Chain’ Rule - Transcendental Functions

Find the derivative of each of the following functions.

1) f(x)=3sin2x
J{l’(x) = Slosdy L
= b dos Ly

2.) f(x)=6cos{'x2}
¢ .
§/,K) = Wi:?-’:"ilir’d,?(h'
= i ONsIAK

. S

3 f@=amdx = g ;"xf-%‘;

.ﬂ “')f - !/ j
j‘ (' xz} - o.f:ﬁﬁ i’m-:‘ \i: ,a.’:) X
i e T
= see I X
<Y X

4) f(x)=sin(zx)*
£0x) = aos(ﬂ’x) 4(?”’) T
Lhr(rrx) Cos (Trx)

. s

)a[)( = SInN (quxq)

-F[x) das(vr'*x) drr

5) /(%) =560’ () ) Je=n'Cx) = ) S gos (T X)
SRV ] | |
(x) = Qseex seextanx DD'ZK) = Q.srn (sx) ws@szﬁ) -
= JALel ~X '}MK - 2
[rstn3Kos =X

7) f(x)=cos*(x")

Fi(x) = Feos (x4 (-sin xL')

2
tiy
Y

2 T<in X

_ =
T — by cos x

8) f(x)=cot [g)
\tha( X ase }{_ :))é

- 2ot>(%) ese’(%)



4x

uy
e

9) y=e

\\ﬁ\

—
——

10.) y =16

é\t \b(-aef”>
= ‘BAc‘M

11) y=(e"=2x-1)

= 2l (5

12) y=ve¥ —4x = (aqx._.l—}x‘)y;"
\ \ Yy "/;_ T
%r— 5 (e — %) ('—’rf, —'—F}
Hx
Ye —H

]
*—.

—
P

@4“&_.-— LE‘\ «

v %
> — o

N e UX

e
—

13-) y - loxz—sinx

3\ SN \D(lox}bg.m)(ax—-aosx)

14) y=3%
y= 2270
- 6MBLBSK>

15) y=In(x")

16.) y=(Inx)’
‘ »
= F{Qux)”- L
X ( Qux) L

T x)®
X

R
A




17) y=log,(x* +1)

o ax
\23 fo> X+

2%

- [N (}C}i'-l)

18.) y=4log3x .2
\ l
‘= Lf_ o, = . 3
X pap 32X
-l
2xui0

19.) y=In(sinx)

20.) y =xIn(tan x)

ES “n¥ é FonK
= CotX = K + M(‘l"ﬂ»«-ﬁ)
é((\KCO-SK

21) y =In[(35* ~3x+2)(5x 1] 2 =1n[3x2 3, +2J

e (2xizgas) & Gu(5x—1) 501
fn (Bx>2 — (Bx-l
) (e 2o (2xcart 2) — (511
=P G V2 5x - by -2 5
Po3Y+ o~ -
Lby-2 = 2K Sx—I
27 2 > Sk -l

23) y=Inyx*—4x-7
'r
5 = LK;"'—}K—?) =

y= L e (-7

\
23\= > (x>t~ t) (2x-4)

= X =2
S

24.) s(f) = m[x 3/3" 1}

3x+1
slE) = 3ty + 5 o (3x-1) — 52 (3%
<L) = -_)E- \\'i—('é';-_\"g —Z/aru—u

P

1 \

—

2x -1 =2+

A

=
X






